i) LYl zeliall 2Bge (o calall s AMiamat T Ss

almahahj.com/ae

bl ) T30

ol ) &l dall

i 423 aall

dno N dy i)

L4y 5o Zp - (fstg_U) OlxiaY] il =

D) ili] »30a

(5;‘34.” \Ss.\.g.” 89g d.lf\.mc‘ dra>i >

Sl il alil] >



https://almanahj.com/ae/pages/search?teacher_name=مصطفى أسامة علام
https://almanahj.com/ae/id=20963
https://almanahj.com/ae/14math2
https://almanahj.com/ae/14math
https://almanahj.com/ae/14
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade14uae
https://www.facebook.com/grade14uae
http://bit.ly/2TwvmBf
https://t.me/almanahj_bot
https://bit.ly/3d37XjG
https://bit.ly/3lSsdIt
https://bit.ly/3lQ5kFG
https://bit.ly/3ro2lFw
https://almanahj.com/ae/id=21097
https://almanahj.com/ae/id=21003
https://almanahj.com/ae/id=20964
https://almanahj.com/ae/id=20963
https://almanahj.com/ae/id=20813
http://www.tcpdf.org

050-2509447

Cilualy ) colilanial 5 a2 Dl 3l

OFEAD
e dalud | ihuas [ (uodal) Jas i @1 https://t.me/mathbooklIADV g‘% https://t.me/alllaaam82
OFA

[=l; patial) e gall pad - 5k sl

[

20232022- 205 pudie 11 Sluslsy S dplin il prazs

Multiply matrices
(1-8) 291

| 1

g O] e wh S 4'4-3?B=[_§ g S 3A=[i _;]aﬁwlraﬂ.ﬂl

a. AB
b. BA

7 0 .0Sal () ¢BA y AB a>
A=[_§ g, i] B=|-1 0

9 3




1E

@NSLLN‘LA&AA/UAJM\JAQ
050-2509447

https://t.me/mathbookIIADV % i ™ httpsy//tme/aliaaam82
pdiall e (gaall gaad 5 5L8 EI Ao Gl y clilatial 5 2 35k 3L

[

Find determinants and inverses of 2 x 2 and 3 x 3 matrices
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Write equations of parabolas in standard form
3 (1-4) 335

ol B Bl A3 paladll sl LGS

i alonily alilel jaonay (AL adaddl ol ; dio eul) diwall Walss JS IS

y = 2x% — 24x + 40 x+32 +12y=18




@%LM‘UAMIWJM\JAQ

050-2509447

E.

=

= bips//tme/mathbooklIADY

patial) e gall pad - 5k sl

[

@ https://t.me/alllaaam82

Graph circles

(31-36)

Wby ydlgadl e

343

X2 + y2 =100

Lol 850000 flo 0 Lo pdad Cuaig 8503 US S e asrgl

Ay

A

2y

X+ y?—8x+12y—12=0

Lol 851000 o b

Lo el iy 5005 JS 35 . .u-,l

A

2 4




@%LM‘UAMIWJM\JAQ
050-2509447

[=: @“E' https://t me/mathbooklIADY
iil' e e ilall sk ol ol

@ https://t.me/alllaaam82

Write equations of ellipses
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Write equations of hyperbolas
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Represent and operate with vectors geometrically
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Solve vector problems and resolve vectors into their rectangular components
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Represent and operate with vectors in the coordinate plane
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Solve systems of linear equations using inverse matrices
11 - (31-34) 301
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7x — 8y =-19
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Graph parabolas
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Write equations of circles
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Graph ellipses
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Solve systems of linear and nonlinear equations algebraically and graphically
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Graph parametric equations
17 (9-16)
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Write a vector as a linear combination of unit vectors
(28-35)
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Find the dot product of two vectors and use the dot product to find the angle between them
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Express vectors algebraically and operate with vectors in space
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Solve systems of linear equations using Cramer’s rule
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- (11-18)
S asB alaseil ddase)l calas)l dalail >

300

2x2 aUaS Jad el S Bacld aladia -

R P Q! chmdased] % alagd) rl.h'a Jo .‘Il.a-.a‘? !y S sacld ‘.Aa'-:—wl
Use Cramer’s Rule to find the solution of the system of linear equations, if a unique solution exists.

3x, + 2x, = 6

—9x+3y=28
2x—y=-3
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Use Cramer’s Rule to find the solution of the system of linear equations, if a unique solution exists.
—x—2y=—4z+12
3x—6y+z=15
2x+5y+1=0
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8x + 12y — 24z = —40
3x — 8y +12z =23
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